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307 2iz2to| A 25,500,000 25,700,000 A 200,000
09 2L AHEXZ2 25,500,000 25,700,000 A 200,000
O24%8H 84 2 25,500,000
ANHSE MUIA 9,500 9,500 0
ANHSSE 9,500 9,500 0
201 LBt 9| 9,500 9,500 0
01 AP 22| d| 9,500 9,500 0
OXNHFEE 28I A28 2 3,000
OXNHEEE g =8 Z2ly & A E4 P2
o 2,600
OAHEINHESAI HES 53 A2 2 1,500
OXNsx-HED|H SEFE L SEZ H&
500 = 2,0000H 1,000
OogAes8 Hs o H& 3,500 * 400X 1,400
ZF0IotM ES&H2HA 2,836,648 2,107,626 729,022
& 70,000
= 2,766,648
CCTVS & 2t Ml &l E 2,836,648 2,107,626 729,022
& 70,000
= 2,766,648
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S THLOrA D
HE: F0I0tM SEHEHH
CHol: CCTVS 8 2t Ml &l Ef (cHol &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 AL 22l H] 18,700 38,700 20,000
ONPEE(HA87 2 HIE)
500,0002 * 1204 € 6,000
OUWES3 A2E 1,000,0002 * 23] 2,000
OZH PC A5 250,0002 * 22CH 5,500
OEUHCE 3tE2IX (Z2lE) 300,0002 * 63 1,800
oA 7 25,0002 * 108tA * 43 1,000
OZIIZEX)| TEWE 200,0008 * 20§ * 63 2,400
02 B22YI 624,589 557,407 67,182
OZ282 %2 HMA 487,920
—CCTV M83lM2
90,0002 * 38034 * 1204 410,400
— CCTV &7 17,0002 * 38034 * 1204 77,520
OFJ|otE e X224 150,0008 * 12042 1,800
OSSTHAIAYE RNES 125,765
— SEZM A *‘=’HHA-IH1, GISAl tH
6,816,3002 * 1204 * 8% 6,544
— AE2IX 544,190,000 * 7% 38,094
—ESDUHY ATZEN(ZMATEYN)
258,077,492 * 10% 25,808
—SETHMUAMY, ME2HHMB, GISAH
D20 1,141,6608 « 1200 = 10% 1,370
—GIS2UEHZ AIAE  40,000,0002 * 10% 4,000
—SHXMY NsE 2M AlAH
50,994,0002 * 10% 5,100
— R ALT 2AP X, SANARX
104,696,430 * 8% 8,376
— 95, NTPAH 90,821,420 * 8% 7.266
— JtatshA B 144,384,000 * 8% 11,551
—CCTV MBS A AE
36,000,000 * 8% 2,880
— CCTV XH2FBI S QIAIAl AE
37,471,500 * 8% 2,998
— A S TRIAAE 16,500,000 * 8% 1,320
— ADIEZHAIAE 97,020,000 * 8% 7,762
— Qrgbsr HlAre 33,690,0002 * 8% 2,69
OYGa&Hl X 22 8,176
— P2 HEZEH(IP-Wall controller)
40,000,000 * 10% 4,000
—DID2LIH(ZELZLIH)
2,900,0008! * 18CH = 8% 4,176
OXSstn FAAHAAY S ELH| 928
—HILIQ2AH, Sa2HD|
11,600,0002 * 8% 928
401 AIEHIZ 2O 527,000 402,000 125,000




AN T D
M FoIoH SHB
SHl: CCTVS 8 2t H A Ef (B9 ®R)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 Al &bl 525,000 400,000 125,000
oYY, HelolEs7d9 S CCTV RXE= 100,000
OBseAE CCTV A2+ 100,000
O2022@ HHE CCTV £X 300,000
OSe2HdE HoTdHA 54 25,000
03 AIE 2 THHI 2,000 2,000 0
OCCTV &XI A& = 2,000
405 TtotF S 656,000 152,800 503,200
=) 70,000
= 586,000
01 AL ESFH SH 656,000 152,800 503,200
OCCTV 2 M 4lEf &= Stollet HAH 2toldA (15
oxg) 440,000 = 150xH & 66,000
OAECIX &4 50,000
OCCTV SS2MAAE DEF AHY 290,000
OADEE Al §HE MHIA 2= 200,000
< 60,000
a 140,000
Q20228 XIs& L Azt X 50,000
=) 10,000
i 40,000
MWEE S (MHerd ) 590,694 589,444 1,250
WHEHHXZ 590,694 589,444 1,250
Ht2eldls 293 590,694 589,444 1,250
702 )12HES 590,694 589,444 1,250
01 oI=dsE= 590,694 589,444 1,250
OMtedZ2 &893 590,694
Y2 (Mt t) 77,000 77,000 0
Jl= &l 77,000 77,000 0
JlE&l 77,000 77,000 0
201 Lt 2| 67,000 67,000 0
01 AF22t2l bl 67,000 67,000 0
Oget=gH| 45,000
O= &l 22,000
202 4l 10,000 10,000 0
01 = LH A HI 10,000 10,000 0
O=U o di 10,000




